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Location:

Superior mediastinum —

Anterior mediastinum

Middle mediastinum

Posterior mediastinum

Inferior mediastinum —
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Parts:
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Transverse sinus:




Obligue sinus:
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MCQ
1- Regarding to blood supply of pericardium. Which of the following is correct:
A- only by esophageal branches
B- only by internal thoracic branches
C- by pericardico-pherinc artery
D- by coronary arteries
E- by pulmonary arteries

2- Regarding to location of pericardium. Which of the following is correct:

A- sited in the superior mediastinum

B- related posterior to trachea

C- shifted more to the right side

D- related inferior to stomach

E- attached above to sterno-pericardeal ligament

3- Regarding to parts of pericardium. Which of the following is correct:

A- outer layer formed of serous pericardium

B- inner layer formed of partial layer

C- the pericardial cavity lies between fibrous and partial layers
D- the pericardial cavity lies between visceral and partial layers
E- the partial layer is closed adherent to epicardium

Key answer: 1-c, 2-d, 3-d
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